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A Finite-Capacity Single-Server Queue

Consider a single server queue with capacity C, including the
server.

e Customers arrive according to Poisson process A(t) with
parameter .

e Service times S; are exponential with parameter .

e Each accepted customer generates ¢ dollars revenue.

e Customers that arrive when the queue is full are turned
away and subsequently generate no revenue.

The queue manager can observe the state and has the option
of buying or selling capacity at the start of each time period of
length T. How should he/she make this decision?
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A Finite-Capacity Single-Server Queue

We use a continuous-time Markov chain model.
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A Finite-Capacity Single-Server Queue

Chiera and Taylor (2002) approached a similar problem by
letting

Ro(t) = E[/Ot)\@I(Q(u) _ 0)|Q(0) = n]du

denote the expected revenue lost in the interval [0, {], given
that there are n connections at time 0 and

Rn(t}x) = E[/: MI(Q(u) = C)|Q(0) = n, r = x]du

be the same quantity conditional on the fact that the first time
that the queue changes state is x.
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A Finite-Capacity Single-Server Queue

By thinking about the modelling, we can derive

(

0, n<C, t<x
ONt, n==C, t<x
Rn(tx) = ¢ 545 Bn-a(t = X)

+33: Rt —x), n<C, t>x
| 0AX + Rc_1(t—x), n=C,t=>x.

‘sACEMJ'

Slide 5



A Finite-Capacity Single-Server Queue

Integrating with respect to the time of the first transition, we see
that

t
Ro(t):/ Ri(t — x)\e dx,
0

t
Fn(t) = / [1Rr—1(t — X) + ARn i1 (t — x)] @ % dx
J0

and

t
Ro(t) = /0 Ro_1(t — x)pe "dx + 9: (1-e ).
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A Finite-Capacity Single-Server Queue

Now taking Laplace transforms, it follows that ,E?n(s) satisfies
the equations

An(s) = s B O + gy i (9)

forO0 < n< C, and

Rols) = 51— (WRo1(s)+ 2 ).
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A Finite-Capacity Single-Server Queue

The solution to these equations is
Rn(s) = A(8)r ()" + B(s)r(s)",

where

SHAFutV/(S+A+p)2 -4
12(8) = 2

and the constants A(s) and A(s) can be derived from the
boundary conditions.

We used the Euler method as described by Abate and Whitt
(1995) to invert the transform of R,(s) to yield R,(T).
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The lost revenue functions for n =0, ...,5 when
C=5 X =3and =5

o 1 2 3 7 5 3 7 s s 10
Time ()
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Buying and selling prices

Now, indexing the lost revenue function by the capacity, we can
derive “buying" and “selling" values, B, ¢(T) and S, c(T) of
bandwidth when there are initially n < C customers present via
the expressions

Bn,C(T) = n,C(T)_Rn,C+1(T)
Snc(T) = Rpc-1(T) = Rnc(T).

When n = C, we write

Be,c(T) = Rcc(T)— Rec1(T)
Sc.c(T) =Rc_1c-1(T) = Re,c(T) +£(0).

where f(0) represents a penalty function for ejecting a

customer.
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Buying and selling prices for n = 3,4,5 when
C=5 X =3and =5

Prices
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The lost revenue functions again
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The lost revenue functions again

All the functions have slope equal to A\, which is the
stationary rate of losing revenue.

The difference between R,(T) and the line R = \dncT is
T
An(T) = )\ / pnvc(U)dU — )\HﬂcT
Jo

T
= )\9/0 [pn,C(U) — 7Tc] au.

This reminds us of the deviation matrix corresponding to the
generator Q of the Markov chain.
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The deviation matrix

For a continuous-time Markov chain with generator Q, the
deviation matrix D was discussed by Coolen-Schrijner and van

Doorn (2002). The used this terminology for the matrix whose
(i,))th element is

D,'j: ./OOO [p,'j(u) —7T/'] adu

where pji(u) = P(X(t) = j|X(0) = u) and ! = (7;) is the
stationary distribution, which satisfies

~'Q=0.

with
i1 =1.
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The deviation matrix

With N = 17!, it is relatively easy to show that

and
D(-Q)D=D

so, not only is D a generalised inverse of —Q, it is the group, or
Drazin, inverse of —Q.
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The deviation matrix

For a specified column vector g, the deviation matrix is useful
for solving Poisson’s equation

—Qh=g—wl.

for the vector/scalar pair (h, w).
When the state space is finite, the solution is

h=—-Dg + c1,

with
w=mg

and c a constant that needs to be specified.
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The deviation matrix

Our equations
t
Fi‘o(t):/ Rt — x)e X,
0

t
Rn(t) = / [Ra_1(t — X) + ARt (t — x)] € M ¥ax
J0O

and .
Ro(1) :/ Ro_1(t — x)ue " ax + 2 (1 - e”“>,
0 K

can be transformed into a time-dependent version of Poisson’s
equation of the form

R(1) = OR(1) + g,
where g/ = (0,...,0, \de").
N\
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The deviation matrix

In our capacity planning example, we effectively wrote the

solution in terms of
;
:/ [P(u) — N]du
0

D= / — M) du.

These matrices are related via the equation

rather than

D(T) = [/— eOT} D

but, since e is hard to calculate, it is not easy to see how to
get D(T) this way. X
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Coupling

Now we use a completely different approach. First consider the
continuous-time Markov chain model of the number of
customers to be driven by two independent Poisson processes

o the process A(t) of ‘potential arrivals’ with rate A, and
o the process S(t) of ‘potential services’ with rate f.
The ‘free’ process that starts with n customers

X(t) = n+ A(t) — S(t)

takes values on all of the integers and, when \ < , it will drift
towards —oo with probability one.

However, on the set {1,..., C — 1}, the process behaves like
our single-server queue.
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Coupling

To make the system behave exactly like our single server
queue, we introduce two new processes U(t) and L(f) that
count the number of arriving customers lost due to the queue
being full, and the number of services wasted due to it being
empty, respectively.

So we have
X(t) = n+[A(t) — U(t)] — [S(1) — L(D)]

where U(t) increases only when X(t) = C and an arrival
occurs, and L(t) increases only when X(t) = 0 and a potential
service occurs. This is the two-sided regulator or Skorokhod
map.
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Coupling

When the capacity is C, the process 0Uc(t) gives us the

amount of revenue that we have lost up to time ¢: similarly when
the capacity is C + 1, the process 0U¢, 1(t) gives us the amount
of revenue that we have lost up to time t. So the buying price is

Be(t) = E[0 (Uc(t) — Uc+1(1)]

Instead of analysing 0 U¢(t) and 8U¢g 1 (t) driven by
independent pairs of Poisson processes (Aq(t), Sc(t)) and
(Aci1(t), Sci1(t)) respectively, the trick is to drive the capacity
C and C + 1 queues with the same pair of Poisson processes.
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Coupling
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Coupling

Assume both queues start with n customers.

Their sample paths remain coupled until the first time 74 that a
customer arrives when X¢ . 1(7) = X¢(71) = C. This customer
is accommodated in the capacity C + 1 queue, but lost from the
capacity C queue.

After time 71, we have X, 1(t) = Xg(t) + 1 until time 7 when
Xc.1(t) =1 and X¢(t) = 0 and a provisional service occurs.
The queues are then coupled again, both with no customers.
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Coupling

The successive couping/uncoupling intervals form an
alternating renewal process, with every ‘uncoupling’ renewal
corresponding to an increase by one in the difference

Ucy1(t) — Uc(t).

We can thus characterise the buying price function at time T in
terms of the expected number of uncoupling renewals by time
T.

We can again approach this via Laplace transforms.
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Coupling

For example, asymptotically,

_B(T) 0
lim =
Tooo T my + mg

where my is the mean time between a coupling time instant
and an uncoupling time instant, and m¢ is the mean time
between an uncoupling time instant and a coupling time instant.
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